Class Time: 7 to 8 every day
Fee = Rs 1000

Note:

Every Saturday Test

Class 12 Account

Full Marks: 75
Pass Marks: 35

Marks Division Chapter Wise

For 2 Marks / 3 marks For 5 Marks

For & Marks

Final Account

Issue of share for cash and
other than cash

( forfeiture, re-issue and
transfer as well)
Worksheet

Cost Accounting
Accounting for Software
Accounting for overheads

Issue of shares other than
cash

Accounting for Debenture
Accounting for Materials
and Control

Accounting for labor
Inventory Management
Cost Reconciliation
statement

NFRS and Multi Step
Income Statement
Unit or Output Costing
Cash Flow Statement

( Direct and Indirect)

Very Easy Chapter

Cost accounting ( For Theory) (5 or 3)
Inventory Management ( 1 Mark N)
Cost Sheet and Tender Sheet (8)
Lifo and Fifo ( under WAC) (3)

Use of Computer in Accounting,
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5 Tips to Get Good Marks in Accounting
=

[1nderstand Basic Concepts
P Practice Journal Entries Daily
EPractice Long Question Answer —’7
£ Bolve Past Questions

FRevise Smart with Notes & Flashcards
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Sub.Code : 1041'K"

NEB - GRADE XII
2082 (2025)
Accounting

(PrRET TETET qEET g€ TGS 95, W, 50 T Y WoHT Prafwa qar aifos
vhemdieEsr aifn)

Frarfest a@aer AT v AT Rvae | &7 T Revat sgat [ofes
T |

Candidates are required to give their answers in their own words as Jar as
practicable. The figures in the margin indicate full marks.

Full Marks: 75

Time: 3 hrs.
w& ye@ Fa K@) (Attempt all the questions)
F ‘F (Group 'A")
#fy G IaUeHE TIAEE (Very short answer questions)
9. AT e Y g¢ Rl Seger |
Write any two features of Public Company.
R sHftre gofiemd afonfae TER | (Define authorized capital.)
3 wwfaar %Y g§ W SRR 1 (Write any two items of assets.)
¥, T AT B e AewwE AeTer |
Write any two importance of Cost Accounting.
Y. POt ST e e e TR
Classify the overhead on the basis of control.
& frdiigm e o deger |
Write the meaning of decentralized store.
O, HHY FEH! AT AGTEN | (Write about time card.)
< mmmmﬂgmmmu
State-any two el of computer system in
. . 9,00,000 YT HTEN FAESA AL TR T |
Prepare adjustment entry of provision for tax of Rs. 1,00,000.
wTHW(CT -

3) 1041'K"

93.(1) & FfR g FeriETe few afaes w Qo0 &t T Yo wfrwra gem
Prregrerr i af w=ivy

P Company issued shares of Rs. 100 each at 10% discount to purchase following
assets from S Company.

e aar Afred (Plant and machinery) Rs. 6,00,000
=T (Fumiture) Rs. 2,00,000
H=2r (Inventory) Rs. 1,00,000
e TR (Required): [1+]
W Frero T g s dewE

Journal entries for assets purchased by issuing shares.
(1) Ferha Y = ufg g0 wfrea ge feal o 78 %, 9,000 @ Yoo fa,
9o wftrra =T ¥ shvew sffen serwr Presrer =)
C Company issued 500, 10% Debentures of Rs. 1,000 each at 5% premium,
redeemable at 10% discount after 5 years.
TR T (Required):
o7 Presrer @ Rt dreaes
Entries for issued and redemption of Debentures
Y. UFeT FAIS AREEST A A FET R g
The closing ledger balances of company are given below:

[1#944]

foraer (Particulars) € (Rs)

& W (Opening stock) 40,000
@@ (Purchase) 5,50,000
Fren (Wages) 60,000
@& (Salary) 80,000
g2 W (Discount received) 10,000
@i @9 (Interest expenses) 12,000
T @4 (Administrative expenses) 35,000
Pt (Sales) 9,00,000
PasmeT @+ (Advertisement expenses) 25,000
WreT @< (Rent expenses) 15,000
9T T &t @ (Water & eleciricity expenses) 30,000

a7 s@rd (Additional information):
i) afr e (Closing stock)
ii) WS @ (Income tax provision)
iii) fot afe wrer (Outstanding rent) Rs. 3,000
- FW:(Con

&)

Rs. so.@
25%

1041'K* (2)
Q0. rer PR T ATHTCAT iy e AT Ry e retfeer TR

R

TR A, (Required): RH4+1.4]
a) YT 34T (Share application) 2
b) Y4 afgwig (Share allotment)
) W aur i+ R (First and final call)
1041'K" “@
TR TR, (Required): R4
a) SV & (Trading Account)
b) T AT @ (Profit & Loss Account)
Y. e TR wegerT T FreTaT R g :
The trial balance of a company is given below :
frazer (Particulars) Dr. (Rs.) Cr.(Rs.)
af@ (Purchase) 2,00,000
ST (Wages) 50,000
@ (Salary) 35,000
FA WIET (Prepaid rent) 20,000
A (Machinery) 3,50,000
G (Fumniture) 1,60,000
HTETHIEE (Debtors) 40,000
T (Cash) 15,000
fart (Sales) 4,50,000
WX §oft (Share capital) 3,50,000
Sftrafeer S™ (Retained earings) 70,000
AT (Total) 8,70,000 8,70,000
97 M@ (Additional information):
i) afiew wreT @ (Prepaid rent expired) Rs. 12,000
i) Afererdar T@@8 (Depreciation on machmery) @10%
TR TR (Required): ™

From the following information, calculate cash paid to creditors in second

.year.
% @i (Total purchase) Rs. 12,00,000
faferer wge® (Sundry creditors) :
Year first Rs. 80,000
Year second Rs. 1,20,000
i srarvaeaT 4,000 ., T fraardt s 9w 3,000 FA. G T ARA
LECIR IR IE‘]ﬁ\H |

Annual requirement is 18,000 kg. and Economic Order Quantity is
3,000 kg. Find out number of order.

@@ ‘@' (Group 'B")
Wi IAUHS TTAEE (Short answer questions)
e FA . 400 T §,000 fFAT WA FAAMER @ ET T

T Preprer =it
A Company issued 6,000 shares of Rs.100 each payable as follows :

[ex¥=¥0]

HTAETHT (On application) Rs. 30
afewienT (On allotment) * Rs. 45
waw aar A fFEmT (On first and final call) - Rs.25

2,000 fETT AT AR ATAGT IS W4T | AAGHEEHEA 3,000 HATHATE T2,
¥,000 AIATFTE WA TIAT ATEHIE T4 7 3,000 HATTHFETE Reat
Y | ATAAHT T A THHAE g et SR Ay | st
Tt .00 RET VAT A18% AT V0T T 9Ty T |
Application were received for 9,000 shares. Among them, applicants for
3,000 shares were allotted full, 4,000 appli were allotted on pro-rata
basis and rest appli were ded. Excess appli ‘money were
adjusted on subsequent calls. All money duly received except final call
money on 500 shares. )

@t Rraer (Work sheet)
@z : e P T ol mr wf wig )
( You should prepare format of worksheet yourself.)

9%, ST FETH A AGTE T TH T A GEES AW TR [R+3)

Write the meaning of cost accounting and explain its any three limitations.

qu, a)wmaymmﬁw Rl
Explain any two ad Y li
(1) = nfkmﬂ TR FAAEE hﬁr—xm e g
The following store ions are provid: ‘fonhemonlhoangh:
#Te (Magh) I:qs HI=Ta (Opening stock) 500 units@ Rs. 20
ATd (Magh) 7: @@ (Purchase) 600 units@ Rs. 22
HH:(Contd...

~




6} 1041'K"

7 1041'K'
W (Magh) 15: @@ (Purchase) 800 units@ Rs.23 TR THER (Required): [¥+¥]
W (Magh) 25: fr#t (Sold) 1,500 units a) NFRS srwria 7167 AT e (Statement of Profit or Loss on NFRS)
T ®SEE, (Required): . [1+3] b) NFRS s fereftr sreare R (Statement of Financial Position under NFRS)
T e W YOI st W9 ST o freerae Rt s T s OR (sraam
e 7 T R a) FEIOT A FET (Multi step income statement)
Value of closing stock and cost of goods sold using First In First Out (FIFO) b) Py st BT (Statement of financial position)

method under periodic inventory system.
9. PR aweTee e a1
95. (1) TN FIHTE TF AT ¥0O T HIHT JeRe L | G e e Following Balance Sheets given as :

HYZT 40 TFE §HE | TR GRT ¥ver T Ko g |

A worker produces 400 units in a week. Normal production per hour will TfEeE 2080 | 2081 wwfaew 2080 | 2081
be 10 units. The wage rate per hour is Rs. 50. -* Liabilities Rs. Rs. Assets Rs. Rs.
AT @SR, (Required): [R]

AT Gofl (stare capia | 4,00,000 | 6,00,000 | ST (Land) 2,00000 | 3,00,000

FRTCE! TF Fr@! anart (Eaming of worker i k
, ™ g ol Neatecun it ST (Debentwre) | 2,00000 | 150000 | @ (Planty | 300000 | 5,00000

(1) e T Pl Sraery e TRt FreETE aere T | |IEEE (Creditors) 60,000 | 40000 | WS (Stock) 20,000 18,000
On comparison of cost and financial accounts, the following facts were sftfa@® (Overdran) | 50,000 [ 80000 | STETHEE (o | 80,000 32,000
disclos;: St T TE (Cash) 150000 | 1,10,000
a) AN e i
» Net pmfnqn?;r!;sﬁzount H . Rs.25,000 e -sone W aaes
. b) T AGTT FICEMT AV @ agt Afaar ST (Total) 7,50,000 | 9,60,000 | AT (Total) | 7,50,000 | 9,60,000
Factory overhead over recorded m cost account : Rs.10,000 3059 WY #1 R (Income statement for 2081)
) ¥ Hivere s e 3y T (Particulars) *®s) ®s)
Over valuation of opening stock in cost account : Rs.5,000
d) AT AT T F Arad Pt} (Sales) : 90,000
Depreciation under recorded in cost account : Rs3,000 (3 Less : Rrofii@t @0 (Cost of goods sold) 5,00,000
TR T (Required): . FF A (Gross profit) 4,00000
arTa feaa fer Rrar > Less : @46® (Expenses)
) Cost reconciliation statement RrFa TaT TOTEMT® (Selling & administrative) | 2,20,000
9%, SafirT FFET T S Gt TS e TR | AT FTHFE (Depreciation on plant) _ 80000
Explain any five importance of computer system in accounting. REATHT TS (Premium on redecmption of Debenture) 30,000 3,30,000
G AT (Net profit) 70,000
Less : ®TWIT {er! (Dividend paid) 20,000
A (Cont . i@ A (Retaining Earning) 50,000

97 FA#TdeE (Additional information): P
&, ¥0,000 fraTdl T[T W@ e fA fEY Tl W § 3,309,000 AT Q)
@f 7 | (Plant was sold at book value of Rs. 40,000 and purchasea
new plant for Rs. 3,20,000.)

9 (Contd...,
" (£,

1041'K* (8)
TR THER (Required): [¥+3+14]

areey Paftrae 7T ware Rarer (Cash flow statement using indirect method)
R, UFET FREETE Fre sETieE e g

A factory provides the following information :

Items Rs. 3 -

grrft @f (Material purchase) 4,00,000 \j‘\

@fw gamt (Carriage on purchase) 20,000 \ " R f\no \A\ v

weqet wqrel (Direct wages) 2,00,000 )

weaet @9 (Chargeable expenses) 80,000 h Th >

W TC #Eqe (Custom Duty) 10,000 S 4 =0 q——

sryeaer WA (Indirect material) 20,000

@M1 WTeT (Factory rent) 40,000

<™ (Depreciation) on L \,
: @A AT (Factory machinery) 20,000 \4 ) &YLLO un
: FE K= (Office furniture) 30,000

: Frarer &M (Delivery van) 10,000 /

aifedt g™t (Carriage outward) 15,000 ~ 1 —\‘ \)
T 7 (Legal fee) 25,000 (XN ,&\)\S\N 3 . S
FErTdET IFF (Audit fee) 18,000
\ ’D
WS WA (Stock of goods) \r > /}
fegaror (Item) 1% (Opening) | &= (Closing)
(Rs.) (Rs.) r 9 M ' n d/l‘q
gt (Material) 40,000 60,000 I\g)() ‘»Q/g ) (/JQ‘P G e, Y\'J’ t
anf 7Tt @ (Semi finished goods) 80,000 20,000 QU/“ O™
Tt 7% (Finished goods) 1,00,000 70,000
AT kT (Profit policy) 20% on cost
TR THe, (Required): (=) %

AT T (Cost Sheet) \/_D ©
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1041'K" (2) gh/m" = €.l
Jo. v Rreqa T s vt ke g R e P AR ) Pre Rwiheeg CA, GLio&

From the following information, calculate cash paid to creditors in second 1 . o r erd ,‘.\‘ v j
.year. . ’

T &R (Total purchasc) Rs. 12,00,000
?a(,v\ ..‘::v':) fafer wge® (Sundry creditors) : 2% 2y

F—‘star first Rs. 80,000

(@ co2sw cs\\etken Rom Aelreel
Cuvren\—xﬁ Rs.1,20,000 10Q Q) — a8\ _ @ \Cask Pmoa Ho CopPAEs
1. S

l Srtda YN

95,000 &30, T freradt R SfvamoT 3,000 F 1. G W ARYA

i b purdnose

Annual requirement is 18,000 kg. and Economic Order Quantity is
3,000 kg. [P GUT number of order.)
wF ‘@ (Group 'B) : f Pord cul X Avoount
Wi IAUHS TTAEE (Short answer questions) wm Cot\~ ? P Q\\?P\'\e g
aw-ﬂac. 900 T §,000 FFaT WX FAATER & 9

N
T Freprer =iy —aum A\ °ﬂL " o9
OO A Company iss ares of [Rs.100]each payable as foll : 0( ; W aote CC ° ) \_\’Qﬂ 00,9/
o T G 3\ Cre dr+od
\Q\(l (On allotment) R /| @ \ n (%& rr N
C \90000 - Ro0Y | £00

R

APrerR — 5\60°°Q

M aar s P (On first and final call) &L
2,000 feFTT AT AT ATAGT II<T WAl | HACFEEHA 3,000

& A
V&Q\ $o° OO ¥,000 HATEHTE FHIII T JITHE T a1l 3,000 sAEFEEATE Rt
-~ T 07 fcr s v wd WA s R aRwdee At | st

‘;WBQ /0/ PerITaeT 4,00 ReeiT VAT aTes AT og T AT W |
Q° Application were received for 9,000 shares. Among them, applicants for (I
AN w 3,000 shares were allotted full, 4,000 applicants were allotted on pro-tata As e = \5 o \p \ 9\, \p%
basis and rest applicants were refunded. Excess application money were R
adjusted on subsequent calls} All money duly received except final call “ \; 9 oG ; AN W
e o A
AR THEE, (Required): R¥4H.Y] (,'\a\n" }A \‘&‘“ cot\»
a) Y4 AT (Share application) / 4 o A\ &) (A '\/
mmrx(smmnonn?/ Ps A (ialo: Fet \yCD-ﬂ‘ V
@) @t aiftrw R (First d‘ﬁnalc\ay Cos\n

+ wwm(Contd...)
av‘%g‘ b |1+ oo000| C Ranw \oon 5
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93.(1) ® FAR G@ Ferie fo afies
%. J00 W
ik Sl 00 TT@ WaT o e g ;:;lK @) C A
PC 2 ) TR, (Required): — [R+3]
Wllpaﬂﬁu"y‘ lmeds Comsharespany- of Rs. 100 each at 10% discount to purchase following :; gﬂ:m (Trading Account) \
m“m ) A @ (Profit & Loss Account) ?
e @41 A (Plant and machinery) Rs. 6.00.000 W, T AR e T Free R g -
R (Fumiture) by 2'00'000 The trial balance of a company is given below :
. W= (Inventory) 00, N theiotnd 2 d
Rs. 1,00,000 5|, o] od
TR THER (Required): ' SN (Pumhors) 2,00,000 e >
< Presrer il wefe e deee 0 :T(g"‘“’ I - 50,000 <X »
Joumal entries for assets issui - ‘ g ‘ C
purchased by issuing shares. ST STET (Prepaid ren ; /
(I aml“m1°MWWﬁWEﬁwomlwm m(.(:fplldul) 20,000 ] Y(\\“?
qo shroa T ¥« shroe s iy ' T Fumine) o X PNY’) Ay
C Compenyi AT T T | Sibem - 60,000 & g
pany issued 500, 10% Debentures of Rs. 1,000 each at 5% premi i 40000 | o T 7
redeemable at 10% discount after 5 years R YN (Cash) 15000 & i3 ‘\J\
R T (R . g FrfY (Sale ’
(Required): BH”‘“ ‘ﬂ'ﬂ( s) Q 4,50,000 X
o~ Prerer aar et Sreee m @ov 5300 1
Entries for issued and redemption of Debentures ST (Total L Lo g" A ~ X
9¥. ﬁ:fmm st T FreraTe R g : a7 @ )(Addltional information): — sne ’Sﬂ S
; ger balances of company are given below: ) s et @ (Prepaid rent c"Dil'ed)/ Rs. 12,000 ) p‘
feraer (Particulars) = (Rs) m“ g F1a&E (Depregiation on machinery) @;ov/; . \'6
% ;I;‘W (Opening stock) 40,000 A w h‘""(' (‘\::::::;) .
(Purchase) ; (e : F0 Pracor@t A A
JQ/ /| T (Wages) > - i (Yonshould P"P-refonn:tmt bl
= 60,000 - i of worksheet yourself.)
) 4 @@ (Salary) 50,000 et T T Y A e e i R4
J &2 ST (Discount received) [ - m;mo - (|)m$gr;m;::$n::: explain its any three limitations.
=& d (Imcres( CXPCI‘ISCS) __2_) lz'mo Explain any (W; d ges of Tivad y N R]
/ yrEtTE @< (Administrative expenses) -—-——25‘000 @ ;m followi T T "5‘"&“‘;“ :
Q fertt (Sales) 5 e following store transactions are provided for the month of Magh:
\ Pt P /)9.00,000 1T (Magh) 1: Y& #1=Ta (Opening stock) 500 uniu@oks. mgh.
(Advertisement expenses) 25.000 A9 (Magh) 7: @@ (Purchase
TeT @+ (Rent expenses) /—ﬁ> ) S
it T &t & (Water & electricity expenses) ———> 30,000
ay @@ (Additional information): : rContd-)
i) sifirer Hiwem (Closing stock) Rs. 50 o(ﬁ .
i) SWT AR (Income tax provision) — \ ﬁw e
iii) foef afet w@T (Outstanding rent) 7 @0 = on ) %
LS OI‘I;U ? o.,\o \p\ @
/ \vo
oY v
\
Yoo M NS s
-_—
‘o OQGV\\‘@ SYoUL 3, 00,000
T\ ?0 N C)’\ &
leosr Qoo yedore\ gelunn s
S‘b & 00
N W o <\e}'>
/
\a 0
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1041'K" )

TR TR (Required): 343
a) SR & (Trading Account)
b) ATET Ay @ (Profit & Loss Account)
. TFET TR Feger aEr Frerar R g
The trial balance of a company is given below :
o (Particulars) Dr. (Rs.) Cr.(Rs.)
af@ (Purchase) 2,00,000
ST (Wages) 50,000
de (Salary) 35,000
A WTET (Prepaid rent) 20,000
A (Machinery) 3,50,000
ST (Fumniture) 1,60,000
HTETHIEE (Debtors) 40,000
AT (Cash) 15,000
fafit (Sales) 4,50,000
WX oft (Share capital) 3,50,000
Sl A (Retained eamings) 70,000
S(HT (Total) 8,70,000 8,70,000
99 9@ (Additional information):
i) a&fir ser @ (Prepaid rent expired) Rs. 12,000
i) #fwrdar @@ (Depreciation on machinery) @10%
TR THEE, (Required): ™ -

Frt frawer (Work sheet)

@z : w1 R g ad wr o vy )

T A ACTO T THH T A GEER A TR [R+3)

e ( You should prepare format of worksheet yourself.)

rite the meaning of cost accounting and explain its any three limitations. c

qu, (l)wmﬁgimmmu

Explain any two ad

R

(I1) #Te HfgTE AR ﬂﬁ!m hﬂmr( kﬂﬁ g:
The following store transactions are provided for the month of Magh:

\( AT (Magh) |: & ¥ (Opening stock)

7( e (Magh) 7: @@ (Purchase)

® 00 K%K' _
af@ (Purchase) C300 Diits@ Rs.23
W (Magh) 25: fr=it (Sold) 1,500 units
|l SSTEN, (Required): %‘R]

\/ At WeeTd I st TaH S e freere Rt s stk

Areererat 3w T e e
Value of closing stock and cost of goods sold using First In First Out (FIFO)
method under periodic inventory system.
95. (1) T3 FORTEH T G ¥ 00 ETE A Jea T4g | §TAT Feqra 9
HUET 90 THE §G | ST SRT HVET T KO G |
A worker produces 400 units in a week. Normal production per hour will

be 10 units. The wage rate per hour is Rs. 50. -

AT FSEE, (Required): R]
FIHET@ T gar@! arart (Earning of worker in a week)

(1) e T Pl Sraery e TRt FreETE aere T |
On comparison of cost and financial accounts, the following facts were
disclosed.

a) T FET HTAT T AR
Net profit as per cost account : . Rs.25,000

b) FFTT ST FIEAT AT @S TG aAraar
Factory overhead over recorded in cost account : Rs. I}OOO

¢) & WINETq R ST A AT
Over valuation of opening stock in cost account : Rs.5,000

d) ST SEmT P F Avadr _
Depreciation under recorded in cost account : Rs.3,000 A

‘T-ﬁ?{ (Required): 8
e femr e et ¥

Cost reconciliation statement

9. ST FPET TR FY gt AEEE ST e |

Explain any five importance of computer system in accounting
nits@ Rs. 22
o (Come =
w7 (Contd...)
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(5) 1041'K"
wme (Magh) 15: @& (Purchase) 800 units@ Rs.23
wTa (Magh) 25: fr=t (Sold) 1,500 units
T WAETER (Required): [343]
N mmmmmwmmﬁmmmm
Aeraa 7w T Rt s %
Value of closipgstock and cost of goods sold using First In First Out (FIFO) e \
method ygder periodic inventory system. / -
:an:wmmmmmmnmmm Lon = Abo VwnIg
VT o T TG | SRR SR HVeT & X0 G | fb(‘o‘\ %AA‘C or =
A worker produces 400 uni

k Normal production per hour will _ o
IREZEEEEESTTTED houry produckion — Ao un it
T FETE, (Reqy ‘

R \e  \QVex = L €O

a)d;;l:?émvw - @ "1 C]

Net profit as per cost account : . Rs.25,000

-—
b)mmmmﬁmm .
Rs.10,000 7]

Over valuation o! \n gost account Rs.5,000 O x—g we ’So
d) AT @ TR h M w >~/| el — Te e n
Depreciation under recorﬂid in cost account : Rs.3,000 Q
T Tlﬁ (Required): . x (VAN u Fra I—Q, \)M »\ ovvr:
e fegrer fre e '

hAS

Cospreconciliation statement
FPET TS F G AEaEe SaTedt e | 4 0 Y c& § ()

Explain any five importance of computer system in accounting.
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